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QUESTION 1

Which two switches are supported cluster switches? (Choose two.)
A. Brocade 8000

B. Brocade FLS624

C. Cisco Nexus 5010

D. Cisco Nexus 5020

E. Cisco Catalyst 2960

Correct Answer: CD

QUESTION 2

Which command is used to set the configuration of an Ethernet network interface?
A. ifconfig

B. ifstat

C. netstat - i

D. sysconfig - v

Correct Answer: A

QUESTION 3

A company is planning to use physical Raw Device Mappings (RDMs) in their ESX environment. Which LUN type
should they use on the NetApp storage system if they want to prevent LUN 1/O alignment issues?

A. They should use the VMware LUN type.

B. They should use the LUN type matching the guest operating system.

C. ESX will automatically align I/O on WAFL boundaries if NetApp host utilities is installed.
D. Any UNIX LUN type will work since it is an RDM.

Correct Answer: B

QUESTION 4

What are two methods of protecting LUN overwrites using Snapshot copies on a volume with fractional reserve set to
0%? (Choose two)
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A. Snap Autodelete
B. iGroup throttle

C. LUN reset

D. Volume AutoSize

Correct Answer: AD

QUESTION 5
Using the output below, a co-worker determined that these are types "Solaris" LUNs. What would your destination be?

lun show m LUN patch mapped to LUN ID Ivol/ivol1/lunO solaris igroup0 O
/vol/voll/lun solaris- igroupl O /vol/voll/qtreel/lun2 solaris igroup2 0 /vol/voll/gtreel/lun3 solaris igroup3 O

A. These are type "Solaris" LUNSs.

B. Not enough information is given here. Run the lun status command to get the information requested.
C. Not enough information is given here. Run the lun show v command to get the information requested.
D. Not enough information is given here. Run the lun map command to get the information requested.

Correct Answer: C
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